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£7? (54) [BE: 212 = 1.26]
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3. Draw a utility function that exhibits risk-loving behavior. (5 points)

4. A risk-averse individual is offered a choice between a gamble that pays $1000 with
a probability of 50% and $100 with a probability of 50%, or a payment of $550.

Which would he choose and Why? (5 points) ,
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10.

11.
12.

Can some individual be made better off if we are at a Pareto efficient allocation?
(5 points)

If we know the contract curve, then we know the outcome of any trading. True or
false? Explain. (5 points)

An explicit delineation of property rights usually eliminates the problem of exter-
nalities. True or false? Explain. (5 points)

The distributional consequences of the delineation of property rights are eliminated
when preferences are quasilinear. True or false? Explain. (5 points)

Define and give one example of public good. (5 points)

Suppose that 10 people live on a street and that each of them is willing to pay $1
for each extra streetlight, regardless of the number of streetlights provided. If the
cost of providing x streetlights is given hy c (z) = 2%, what is the Pareto efficient
number of streetlights to provide? (5 points) '

What is adverse selection? Give an example. (5 points)

What is mora] hazard? Give an example. (5 points)




